| |

Yram evew — Fin Poblom (Lo ok dumansionaliy)

(a!~v> -

T=Tew
/ k- (oﬁé“‘&\;h
y :

Bia U
N

“— L —

.. €08
1 \\U{-{‘M Zz L/LJ 5 ,

X Agwe edge efecds
(N \df-é:‘v ave Srual.

« [

— - -
e § ) z
o_x

BC'ss
z-dv: T(x,0)= To (westend)
¥ et 7| o
L (0 T(Xﬁ') - q&% = - [0 — | (est
b

b %IK(\,J)%) = -h [ T(w,2) -Tw)

% (0,2) =0 CSWMM‘;’)

¥ Gorval  Balgnce
DB . _v. Aol
SF{-‘E;S_*VN oz §GT _B=CT
. & = av-r
Y Pt comst &)’él’lk i QO }
By Hv
flo o =TT 4ty
% 7/_()(76,?) ) o OfMWh;’V‘ (HV'"/O), S‘I&ldj} no  conveton
PI;O cho 3.(—_; C(\/\SCC{G 'Fl;“)
a‘] At /!;I:_O
RT LT
) Blk[ a_)C'L t ’;‘-’»]
dx e53 ‘

d )

(fip/
botto)




|

X 0.0 M @Mtgsis Rov X TF laou»x&w\j condfions

JIT

il R
w3 W = T [ - %)
ﬁ O{‘Mﬂ.‘"'ﬂ‘r
T o Tl(wa)-T(02) I
% S "E[T(“')*)'T""]
(findde dfrtne)
daif T( - T ;
L K—&In‘( - ’*Oiz-—:-[-(‘—iﬂ ~ M = %L
domp diH — T(wﬁ)__{m - o
wihn arr
?«/'Aq'f\
T

2AN =
5 (50) =B [y

\

ST, T(x,L)- T(x0) _h
= . m~ *Q’:YT(XJQ—T’:J
T (%,0) - Tlx,L) oohi "
Tlx, LY~ Too 3 -
X b wel, s By << IS
X Anotiey Wy fo see Al .
T—To 2 e
Lt - - -7
6 To"—roa j /\'J x :
EAR
w0 = [T -]
To-Twe 98

pS————

W

- ’% [GoTe) B (51, %) |

VEEN

= —PXW 8\

')"Q—,[




* whon P)\‘w << | ) frun

0|
=0 N 2
3 %<

—2 vio Vvaiattew tn x,&lr(

€ But, g pamohion 1 p-dir-

* Puerage  acnss  x-div

_ v
T(?)= "JJ TC x,2) dx

[o]
\ﬂaz y
o e ,L[»h—_
W X w % |5 =0 W &QT Tw)‘-()
o
) -h
e e = (T~ To)
w y 2 w Wk
l_& eT 1, = & -Lg'\’&
Wy Tt T At w 2
0 v}
s
Rieid
X Now Balana

AT

0%

= X 5T
(’T Tm} s T(0)=To 5 L:
=L

S

X Valid oy B <<l

¥ Nowy nou-dimensionalize and frew Solwe.

(':'_ Y/:-\‘ (L= Tw]

::T”’l’ R/ hwz 2 -b—v’l,
’ _T—a—;{: o p;‘wzs=(_§:i 1"\;1“ '(w‘,’)%




| I

¥ouduy USC 827 Tedimcality.  Compition betwen
heat (ogs cn b 4'\p 3 mn “Of’/IOOHOM- No#t ;MPQV\;,%JQ,,@W'

wie ol ’4“;\”( about “"bﬁc) Mot . Ch-Y. M,Qboubf"f;\
;?WM}PLL A2.4-1 J 2%-2 . Not on -exam . [Svkjvdxv %Vﬁlh‘ﬁén).

X Ri-saled E—T)mhhns :

Tﬁ'Td . &:_Q"L 2 k\/ (TQ—T«D g
QU"//»\) 3% W e

d%8
- =0
&%1. e \
el %(@:TO — (To’Tv) O + T = To

Eos

BCle i—i -’L— — o— lao
o E| e o i B

= (et 23| N
=N
_ L .
Lt A= /\,%/1 R T T
= | =~ \T) oM
ST
SIS

¥ Now, Mahn, Salwe T o,

° L«\xuw, vslam] e @ . 2V\& ovdey ODL,

. chavakenstic €QL; =\ = =+




B6(Z) = A sinh (B) 1 D coshh (3)

40
42

YOI

BCZ -

A oo (B) t B sinh @;)

0)=\ = B8(0)= & wsh ()= %= |

XD =0 = 02 Acsh(N) + % sla(N)

Z(D =03 0= A S
0= Acsh(A) t Sin h(A)

Bz ~ §in\/\(/0 - ﬁ{zm»\(/\>
cos (1)

F@(?} = cosh (%) - hn\r\(M g,’m\f\m




